03-12-25 MTH 161-CO6N

Review for exam 2

Exam 2

Thursday, 03/13/25 (changed from Wednesday)
1.6-1.7,2.1-2.4

3 Polynomial Functions

3.1 Graphs of Polynomials
3.1.1 Exercises
page 246:3, 7, 13, 21, 27

1.6.2 EXERCISES

In Exercises 1 - 12, sketch the graph of the given function. State the domain of the function,
identify any intercepts and test for symmetry.

9. f(z)=v5—=z

4000\4\1\!\ = (" D, 5]
I Avvld f’aktmj the {114 oAne l/oolL
0‘7[ a negelive humbev

S-x 20
57/%

oV

x< S
donma = 37| fof 7 (’@/ g]

Y «mhvc.oyf
sl x=0, solve Lov 7

= m = Js5 ov f‘Lel”""l\ /d/ﬁ)

g-palevee pl
et gzo, (e e K

/

MTH 161-CO6N Page 1



sl y =i, folve Fov K

\lJ-—y 0
J-o ° 0

-9

5:(’“) = }/7‘) 61” X édllm““ ./ f

Yheo # 14 €VEn
§l) =l ol A ¢ doma of /
Hhe, £ 1 od ,
Hon) = (o) = 51y T II¥
Jtx =S¥

Y - -x

)L / h\;l A A% 0"‘” Fywe /’ovoc,/b

Fl-v)7 \//7 £-x
-




Y|, 17)

-10 1 T

Sqrt(5)=2.23606797749979 ,’J\‘ ‘l. 1 L,

Convert quadratic from general form vertex
(standard form)
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2.3

20. In the situation of Example 2.3.4, Donnie has a nightmare that one of his alpaca herd fell into
the river and drowned. To avoid this, he wants to move his rectangular pasture away from
the river. This means that all four sides of the pasture require fencing. If the total amount
of fencing available is still 200 linear feet, what dimensions maximize the area of the pasture
now? What is the maximum area? Assuming an average alpaca requires 25 square feet of
pasture, how many alpaca can he raise now?
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Find the vertex of the parabola
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